KOMMEHTAPUIA

LESSON 1

C1. Before you start studying phonetics let us remind you what is a sound and what is
letter. A sound is what we hear and pronounce. A letter is a sign, which we see and write
(put down). A letter serves to be a sign of a sound. -

Here you see the Russian alphabet. See table 1.There are 33 letters in it. Some of them
denote only one sound, for example the letters mju] and si[bl]. The others depending or
their position can denote different sounds, as the letter O

o ol
O
\ [a]

On the other hand, one and the same sound can be denoted
by different letters, as the sound

There are also letters, which correspond to no sound at all, but serve as the symbolization

of some sound only in combination with other letters, for example the letter b (“soft
sign”).

C2. All consonants in the Russian language can be divided into voiced and voiceless.
Voiceless consonants are sounds on pronouncing of which the vocal cords “do not work”. But
when we pronounce voiced consonants the vocal cords are tense and vibrate. You can feel it
by touching your throat with your hand. The majority of voiced Russian consonants have the
corresponding voiceless ones and they form a pair “voiced consonant/voiceless consonant”
This means that the voiced consonant differs from its voiceless pair in pronunciation - in
its production the vocal cords take an active part. The consonants which form such pairs
are n-6, ¢-B, T-1, c-3 and etc.

At the same time in the Russian language there are voiceless consonants which have no
voiced pair (X, 1, 4, m), and there are also voiced consonants which have no corresponding

voiceless ones (M, H, p, 1, i).

(3. a) Any word consists of syllables. The number of syllables in one word equals (or
the same with) the number of vowels in it. One of the syllables in a word must be stressed.
In different words the stress position (and position of the stressed syllable accordingly) is
different. The vowel of the stressed syllable is pronounced with more force, it is longer. In
unstressed syllables the vowel is weaker and shorter in pronunciation.

b) Any word can be represented as the rhythmical model, in which

/1 - symbolizes an unstressed syllable,
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/" / - symbolizes a stressed syllable,
M - shows that the word combination is pronounced together.
The rhythmical model of the word «kdmuaray, for example, looks as follows: / ' // // /.

C4.

NN
o ="

Letters A and O in the unstressed position are pronounced as the short sound [a].
For example: crpana [crpand]

OHa [aHa]

3TO [3Ta]

Kapra [kapra]

KOMHAaTa [KOMHaTa)
JIOKTOp [aOKTap]

C5. The voiced consonants at the end and in the middle of the word before voiceless
consonants are pronounced as the corresponding voiceless consonants:

b - [0] apa6 [m] :

B - [¢] WBandB [¢], cnpas[d]ka

1 - [1] répon [1]

3 - [c] 3aka3 [c]

I' - [&] opyr [K]

C-6. In the Russian language there are some different types of intonation. Let us call
these types UK («uHTOHanmonuas KOHCTPYKIHA» - intonation construction). These UK serve
to differentiate the pronounced phrases and their parts (syntagms). In any type of the UK
you can find the pre-tonic part, logical center (stressed part) and post-tonic part. UK-1 is the
intonation of a “full stop”, or the intonation of the narrative sentence. The pre-tonic part of
MK-1 is pronounced with the middle tone, then on the stressed syllable of the word, which
is the logical center, the tone falls and if then there is a post-tonic part, it is pronounced
with the gradual lowing of the tone.

C7. a) Inside the phrase before the conjunction «m» you can make a small pause and the
conjunction «u» then is pronounced together with the next word.

b) after the words ending with the hard consonant the conjunction «u» is pronounced as
«bl», the words being pronounced together. For example, BOT 1 oH [BOT BI OH].

C8. In the Russian language all nouns can belong to one of the three genders: masculine,
feminine or neuter.

Words ending with the hard consonant typically belong to the masculine gender. The
pronoun “he” corresponds to them.
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Words ending with —A typically belong to the feminine gender. The pronoun “she”
corresponds to them.

Words with flexion —O belong to the neuter gender. The pronoun “it” corresponds to
them.

Look at the table:

(134

MyKCKOl poa KTO? qTO?

(mask.) Visan -
Xenckuii pox

(fem.) Tamapa KOMHaTa
Cpenuuii pon o

(neutre) OKHO, (OTO

LESSON 2

Cl. It is necessary to distinguish between the letters 1 and U, which express different
sounds: the letter I denotes the vowel [u]. It can be stressed and can form a syllable.
The letter 11 denotes the voiced consonant [i], which is pronounced more tensely, with the
vibration of the vocal cords. This sound can not be stressed, it can not make a syllable and
it is always combined with one of the following vowels: a, o, 3, y, (4, BI).

C2. a) If the sound [if] is placed after a vowel, this combination is expressed in writing
as the corresponding two letters: [aif]- aii, [o#]] — oif, [3#] — 5, [yi] — y#, [mif] — wui,
[p1#1] — BIM.

b) If the consonant [if] precedes (stands before) a vowel, such combination is expressed
by one letter only: [ia] — I, [Ho] — E, [i5] — E, [iiy] — IO.

¢) the letters £, E, E, O express two sounds (the combination of the consonant [i] with
a vowel) in a word-initial position (beginning of the word) and after vowels.

C3. In the Russian language the majority of consonants form pairs according to the
softness/hardness principle:

Soft
Hard

The difference in softness/hardness is essentially important for understanding the word
meaning:

6par-6pats (a brother — to take)

yron-yroib (a corner — a coal)

The consonant softness in writing is expressed with the help of the following letters:

a) b — soft sign, which can be used after the consonant in the final position (MaTs) or
before the other consonant (aembru). The letter b corresponds to no sound and only shoes
that the preceding consonant is soft;
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b) 4, E, E, 10, U after the consonants:

after ;
a hard a 0 3 3 § y E BI
consonant '

after | |
a soft bt & = 10 ; u
consonant | |

When you pronounce any soft consonant, the position of all the parts of the speech
apparatus keeps the same as if you pronounce the corresponding hard consonant. The only
feature which is added to the articulation is that you move the middle part of your tongue
up to the hard palate (as in pronouncing [u]).

Attention! The syllables of Hf-type consist of two sounds: a soft consonant and a
vowel. At the same time the HbSI-type syllables consist of three sounds: a soft consonant,
[i]-consonant and a vowel.

Compare: HS [H’A] — HbS [H’MIA]. By analogy with it the HbA-type syllables consist
of three sounds: a hard consonant, consonant [i] and a vowel: HbS [HIA]

So taking the position between a consonant and a vowel, the letters b and b show that
the letter, following one of them (S, E, E, 0), is read the same as at the beginning of a
word (see C2 b)).

In the unstressed position both the letters E and 51 after a soft consonant are pronounced
as a short sound, something between [1] and [e], which is expressed in transcription as [ue]:
Tearp — [1T’mearp]

JIEBATh — [1’3BUET’]

At the beginning of the word the combination of these letters is pronounced as [itue]:

e¢ — [iueiio]
er6 — [itmeBod]
S3bIK — [HHE3BIK]

In the interrogative sentence with a question word the intonation center is the stressed
syllable of the question word. The pre-tonic part is pronounced with the middle tone, the
stressed syllable — with the abrupt fall of the tone. In the post-center part the lowing of
the tone is continued. This is WK-2.

Some nouns in the Russian language denote a living object (people, animals). Such

nouns in grammar are called animated and answer the question “Who?” - «Krto?»(«Kto
3TO?»).
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C8. 1) the majority of the nouns of feminine or masculine gender with the hard stem
(base) have flexion —bl in the plural;

2) the nouns ending with —b may be either of feminine or masculine gender. The gender
in such cases is defined according to the dictionary. All the nouns of feminine and masculine
gender with the soft stem (ending with —Bb) have flexion -U in the plural;

3) the majority of the nouns of neuter gender, which end with —0, have flexion—A in
the plural

NOTES:

a) Feminine, masculine and neuter gender nouns with the stem ending with —T, -K, -X.
have flexion —Y in the plural.

b) Some nouns have specific forms of the plural: apyr — ZApy3bs, 6pat — OpaTbs.
etc.

¢) Some nouns are used only in the singular.

d) Sometimes when you change a word into plural the stress is also changed.

C9. In the Russian language there is a special group of words, which substitute noun in
the sentence and point to a person or a subject. This group is called “personal pronouns’
s, THl, OH, OHa, OHO, MBI, BBI, OHIH.

Another group of words indicates that some person or object belongs to someone. This
group is called “possessive pronouns”: MO, TBO}I, ero, e€ etc.

Pay attention that the promouns ero, ee, X in contradiction to the pronouns MoH,
tBoii do not change in number and gender. They only indicate the belonging to some
person or people, show that something (or someone) belongs to someone. At the same
time the pronoun ero indicates the belonging to the person of male sex, the pronoun e
- to the person of female sex, the pronoun mx — to two or more people of both sexes.
For example:

mo Aumon. Dmo ezo gomo, e20 cnpaska. Imo Anna. Dmo eé omo, eé cnpaska. Imo
Aumon u Anna. Dmo ux gomo u CnpasKu.

LESSON 3

C1. When you pronounce hard [], the front part of the back of the tongue touches the
upper teeth and the tip of the tongue looks down, as if you articulate the hard consonants
1-1-5. The middle part of the tongue is curved, and the back part of it is raised and tense.
The tongue takes the spoon-like form. :

When you pronounce soft [’], it is necessary to change the form of the middle part of
the tongue by moving it up to the hard palate, as if you pronounce the vowel [u].

C2. When you pronounce the pair consonants [m]-[x], the tongue moves back, it is tense,
the tip of the tongue touches the alveolas and is slightly turned up, thus making a fricative
with them. The middle part of the tongue is curved inwards and its sides are pressed to
the sidelong teeth. The back part of the tongue is raised and makes with the back part of
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the hard palate the second fricative. The lips are moved slightly forward. The sounds [mi]
and [x] are always hard.

In unstressed position in the syllables IIIE and XXE we pronounce the vowel, which is
something between [3] and [e1]. This sound is expressed in transcription as [bI3]: HHXKEHep
[mHxBRHEP] and so on.

(3. To pronounce the sound [4’] in the correct way, it is necessary to move the lips slightly
forward, to press the tip of the tongue and the front part of the tongue to the alveolas and
hard palate, thus making an occlusion. At the same time the middle part of the tongue is
moving up, as if when you articulate soft consonants. Then it is necessary to make quickly
a fricative between the tongue and the teeth, having the sides of the tongue pressed to the
sidelong teeth.

The consonant [4’] is always voiceless and soft. After this consonant in the unstressed
syllable we read the vowel [a] as [ue]: yacer [4’mecsi).

C4. a) In the interrogative sentence without a question word it is necessary to find
what word is the logical center. This word will be the intonation center too. The part
of the sentence, preceding the stressed syllable of the intonation center, is pronounced
with the middle tone. On the stressed syllable your voice goes up (makes a rise) and
all the post-tonic part (if any) is pronounced with the gradual lowing of the tone. This
is UK-3.

b) to the question without a question word you can give:

l.a positive answer, beginning with the word «ma»;

2.a negative answer, which includes two negations:

-a common one — the word «mer» (pronounced with a stress) at the beginning of the
sentence, and

-a special one — the unstressed particle «e», which is placed before the logical center.

Compare:

Oto Bam xypHan? 1) Jla, moii. ([la, 3T0 Mol *ypHan.)

2) Her, e moii. (Her, 370 He MO#t *)ypHai.)

C-5. Asking a question about an unfamiliar subject or an unanimated object, we use the
interrogative pronoun «4to» in combination with the demonstrative pronoun «sto». The letter
«a» in the pronoun «uro» is pronounced as [mi].

C-6. If you want to know to whom some object belongs, you should ask a question with
the pronoun «Uei?» («Upa?», «Upe?», «Usu?»). This pronoun agrees in gender and number
with the corresponding noun.

For example: Yeii 310 KypHan?

Ubs 31O pyuka?
Yse 310 (oT0?
Yeu 310 OuKkH?
Answering such questions, you use one of the possessive pronouns with the noun.

Analyze the table:
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‘H Kro 310? ’ Yeit ato xyp- Yes 310 pyu- E Ysé 310 (oTO? Ysu 310 OukH?
\‘ Han? Ka? ! ] i > s
| 3to 1. 910 MOt *xyp- OTo Mos pyu- i 910 MOE (hoTo. 5 OT0 Mom O4YKH.
I | i
} ) ‘ HalL. ; Ka. i end vith (3 | cxive - A
| 310 THL : OTo TBO# *Kyp- 310 TBOS 4 310 TBOE 910 TBOHM
{ Ha pyma | ot | omm
310 MBI OTo Hamr xyp- 310 Hama | OTto0 Hame f OT0 Hamwu
HaJ. pyuKa. _oro. __:,ém,r;-zf_?‘!_ff.’?:m, o
310 BHI Oto Bam xyp- O10 Bama 310 Bame ‘ Oto Bamm
HaJ pydka. doro. » L50t¢ OABH. o |
310 omH. OT10 ero xyp- 310 ero pyuxka. 9T10 ero ¢oto. | OT0 ero oykw.
Haﬂ. ———————————————— :,,,,_z.m,iw‘f.,,.ﬁ ————————————————
| 3t0 oHa. 0710 ee xypHan 9710 ee pyuka. | - _Oro €& doro. ,mg,,.__,,?ﬂ’m‘?é: OYKH.
::J‘ 910 oHH. 910 mx *yp- 370 HX pyuka. Ot0 ux doro. OTO WX O4YKH.
‘ Ha. [

C7. In the Russian language there is a special group of words, denoting the number.

These words are called cardinal numbers (or numerals) and answer the question «Ckombko?»
(“How much?”).

C8. The infinitive form of the Russian verb is usually ended with —r5. In the Present
Tense Russian verb changes in number and persons. There are some conjugation models and

stress types. The verbs of the I-st group of model 1 in the Present Tense have the following
flexion system (the system of endings):

A ...-10 Mbr  ...-em
Tery go_lugido halsg Bl ...-€Te
O\ _—" .-er Onn  ...-jor
Ona '

Imperative mood ...-it (singular) .‘
-iite (plural) '

The stress in these verbs, as a rule, is fixed: in all the forms it falls upon one and the
same syllable of the stem (base).

Study some of the verbs from the I-st group of model 1: gutars, 3Hars, CIIyliaTh, Je-
7aTh.

C9. Answering the question «Uto Ter Aenaems?» (“What are you doing?”) and such like
"questions you should not repeat the verb «nenatey. This verb is used only in the question.
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LESSON 4

Cl. [x]-sound is formed at the same place as the back-lingual [k], [r]. But differently to
[x] and [r], the consonant [x] is not occlusive, but fricative, It means that the back part of
your tongue and the palate do not touch each other when you articulate this sound, the air
goes freely. It is a voiceless consonant, which have no voiced pair.

C2. To pronounce the consonant [] in the correct way, it is necessary to pronounce the
consonant [1] first and immediately after that to articulate the consonant [c]. It is very important
here to pronounce [c] tensely and shortly. The consonant [u] is always voiceless and hard, that
is why the combination of the letters IT and E is pronounced as [13], and the combination of
the letters I and U is pronounced as [usi]. In writing the consonant [0] is expressed with the
help of the letter I or the combinations of the letters TC, /1], TbC. The unstressed vowels
A and E after 11, TC, JIIT are pronounced as the short vowel [B1].

C3. When you pronounce the consonant [ur’], the position of your tongue is the same as
if you pronounce [4’], but the tip of the tongue and the palate do not touch each other so
the air goes freely. The consonant [ur’] is long, voiceless and soft.

In writing it is expressed with the help of the letter II] and the letter combination CY.
The unstressed vowels A and E after I are pronounced as the short vowel [m].

C4. a) The interrogative sentence which begins with the conjunction «a» expresses
comparison. The logical and information center of such sentences is usually the word,
following the conjunction. Within the bounds of the stressed syllable the tone first falls and
then immediately rises. The pre-center part is pronounced with the middle tone, and on the
post-center part the tone continues to rise. This is HK-4.

b) The conjunction «a» can also be used at the beginning of the second part of the
complex sentence, the parts of which are opposed in meaning. The first part of such sentence
is pronounced with the intonation of HK-3 (see commentary C-4 to the lesson 3). The second
part of the sentence is separated from the first one by the pause. :

CS. In the Russian language the adjective agrees with the subject in gender, number and
case. Usually it takes the position before the noun, to which it refers.

Depending on the final consonant of the base (stem) and the place of the stress we
distinguish between different adjective models. Each of these models has its own peculiarities
of conjugation. : ;

The interrogative pronoun «Kakoi?y» (“Which?) also changes its form depending on the
gender, number and case of the corresponding noun.

Analyze the table.

C6. Study the II group of the Russian verb. The verbs of this group in the Present Tense
have the following flexion system (system of endings):

A ...-fo Mumr ...-HM

Ter ...~HIIb Brr ...-UTE

On —> ...-UT Onmu ...=AT (-aT)
Ona
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Imperative mood: ... -u (singular)
-ute (plural)
The stress in such verbs can be either fixed (fall upon the ending, or flexion) or can be
moving. The typical verb of the II group— «rOBOPHTE.

C7. Adverbs are the words, which characterize actions. They can indicate the quality of
the action (such adverbs answer the question «Kak?»), for example, Xxopomo, BHUMATENb-
HO, mo-pycckw; they can indicate the place (these adverbs answer the question «I'me?»), for
example, 31ech, TaM, gaisme. They can also indicate the time of the action (these adverbs
answer the question «Korma?»), for example, ceronss, ceidac, moTOM; and may have other
meanings. The adverbs can have the position before the verb or after it.

C8. The verb «roBoputs» is often followed by the adverbs «mo-pycckm, «TI0-aHIJIMUCKID
and such like. Pay attention that these adverbs begin with the prefix «mo-» and differ from
the corresponding adjectives (pycckwui, amrnmiickuii ...) - they do not change their form.
The same as the adverbs ending with —O (xopomo, minoxo), the adverbs like «mo-pyccku»
relate to the verb and answer the question «xak?». '




